UV I\COoCTdlull PUOLCTI . YJYLA

Modular UAV Wing Design Using Standardized Parts and 3D Printing

Delbert Siuhi, Matthew Burnett, Aditya Anandkumar, Austin Downey

Molinaroli College of Engineering and Computing, University of South Carolina, Columbia SC

Abstract

Many Universities have research programs that make use of
UAVs to aid them 1n their research depending on their needs.
However, getting or creating these UAVs especially if they are
big can be expensive. Throughout my time at USC I helped 1n
designing an airfoil for a plane like UAV design. This model of
the airfoil builds upon the previous airfoil and UAV design built
in the 2025 spring semester by Matthew Burnett, George Coffey,
Josiah Worch, Smythe Goforth. I worked with my group to add
holes 1nto the wing that use more standardized parts. These parts
would reduce the cost of production making it easier for colleges
to fund the creation of the UAVs which then later can be used
for research purposes. I utilized inventor CAD to 3D model and
design the wing and then used a Bambu 3d printer to make test
prints looking at tolerances, hole sizes, and hole distance.
Throughout this redesign we found 1t would be cheaper and
easier to make use of 20x20 aluminum and m4 screws 1n the
design which 1s what we based our new design off of.

What is an Airfoll

e An Airfoil 1s a curved Cl vs Alpha
structure that creates lift

B T I T L L T S R S T R = T S I I R I
. . Pt Ertts SN EnaE s ST EImOIE T IS IIm i I i
‘ ..... Foe e N-.....;.:-.... P e e e e S S T —_ —
pritspeest ety eperesrroperatey S T T T I B T e B e e ===
b e ——y .o~
=t ] .6 EEE et e e
° L4 L4 st - ' $ - o e v e
m nl u tln lr OW = — pater s e St T o e e T — e S e e =
El EI EI SRR IR T T =2t —
T T T T T I I I N L S R N R IR B/ S see) Sttt e e =
= S & =
St des T T e I e e .j‘.::: e T T S T
° ° ° —— -——_— :: '::::::-:: »»:l g St -t b .o g ._¥ . ——
* The airfoil creates high -
b e e s =
sty ' e e et et e ERY SR ettt B ) S B e e
sTety o = e bt pitet et fovt oot sed s i o e e R T T e e
I nIE IS IS INTEIETEINS = 2 '::,ﬂ::: e prote N e "E ===
eothed o3 —— >- - e el Sttt e SR B O e SR
IS EIE IS TS T T, e :
SRS R e e e e e e e NI T e
—— -4 R - e g .. ——f —— 3 - e el e b - e =
= = 3 S S T I T I Iy A =t X
1.2 $ : 74 .;.Jgp;:?: X O G e
g 1, TSI I : " e — =
it = & i St s ey S N N
ressurc on tne oottoim T : 5 = =
sRESEp g s s s e A A e s o e s
oS seee taees TeosseaTs fs “l:..:_ I 7 An R s “.. ‘!‘;- R E ; ‘:z_:
® * f Sooms bovani SES00 SHATE SS9 SESe SSna PRSI S pRSe I3RS SoSnesaney 1
o EEEEE et s e Tt Serpees SepeRate S pe—perepte
Foroforem 0 oo ket rrr Pt et ped o rote P —— ety —_——
s e /s |8
T VTR TTOIPL - f T T T I T T T T
+ v + - posest o g veve P P ——— . — . —— PSS Seaay POUR SHONS S
Y Y - + h— . 57t tatee — e B i et St St S
s TS e o — — ==
SOUrcc oI 111t 11 tnc EnEEE N =
IR R s : 233 S = =
8 e - - et bt -t e b s 4 et
. - v 4 4 - T S -~ > o -
177 P h et s oseat st st =
° \Me use t c |\| SRR e s S
c i 2L SRttt s bttt e s et b fees et
& L > it T NI R e R T
peted — fosd Sotsettens pRSe St S00ee soans tanae —
[ ] [ ]
e 3% Tos =3 asteespatee] RS I TR IR TSR
22833 BRI : 2 e S I S TR s
Sereepvre o 6 oo breat § : .- e - —
P e e e b et = eI
cieego rrrhcees b vhes
broe=s jyvey 3 —— g 22 A ’ Aobbast i i - — -
. . : SRt ///i% o
IR === SYMBOLS R.N. SOURCE =
== : p e
EE5E EESE O WITH GRIT 2.2 x 10° W.S.U. =
Pottre b . -]
oo o =
° SnEs t .‘3’& > —
eas O rln ::_.LXM & N G CLEAN 2.2 X lo w-S'U- —
eyt —
- o 4§ = ——
3 o) JAN 6 R
R e // CLEAN 3.1 x 10° REF. 9 =
* Good sta e 5
7 =]
Ertiintns ity § ) SH et et e Q NACA GRIT 5.7 x 10° REF. 9 =
77 = . : =
AL = =
o 4§ e beteatoes 3 3= r—— -
33 LA = 2SS S I IR : £ =
= = Y‘}. S .‘:;‘ S bawen hete el el et St SR R :.,,__. : ——— > -
oon—-abmso — o — — - 8 v o o —
Sevreter - , — — ~ ——— — -
p#) RIS e e 2333 =T =hR T
=HH B =t = =
-4 Bom 40 ompe 8 T 12 =16 =R 20
posiosstass =33 . s ses | ==
o =t g (DEGREES) WhebCh
Be237 7§ GRaTeeeases == oo :
/743 = == Sesgesrepesssesss $ ]
I I I T N e T
TN e = == SIS TS TN IS TS TS = RS ==
D ¢ ° ° o= e T e e b et b e Tt t
rawing o NACA 2412 airfo1 T S

/ ~ \
‘\

Seetharam, Rodgers, & Wentz,
1997

Issues of the Old Design

* Lots of custom parts (ex. Use of pipes)

* More expensive to assemble

* More complicated to assemble as well

* Once put together couldn’t be taken apart

s
-

Goals of the New Design

* Use more commonly available standardized parts

* Make changes in the wing to allow the use of these parts
* Make the UAV cheaper and easier to assemble

 Make the UAV easy to put together and take apart

How to Achieve These Goals

* Use more commonly available standardized parts

* Make changes 1n the wing to allow the use of these parts

* Make the UAV cheaper and easier to assemble

*  We will be making use of 20x20 Aluminum and M4 screws
for the frame

* These parts are fairly common and versatile

Both of these
CAD models
have holes for
20x20 and M4
screws 1n them

This material is based upon work supported by the Air Force Office of Scientific Research (AFOSR), United States through award no. FA9550-21-1-0083 and
no. FA9550-21-1-0082. This work is also partly supported by the National Science Foundation, United States grant numbers 1850012, 1937535, and 1956071.
Any opinions, findings, and conclusions or recommendations expressed in this material are those of the authors and do not necessarily reflect the views of the

National Science Foundation or the United States Air Force.

ARTS-Lab

Adaptive Real-Time Systems Laboratory

Design Process

* We Used Inventor CAD to 3d model the wing and frame

* My job was to create holes for 20x20 and the M4 screws

* [ put 3d models of 20x20 and M4 screws into CAD

* Using the parts to test 1f the holes I made worked

* Used assemblies to test how the different wing parts fitted

Exploded view of the
Wing assembly in CAD

* [ did test prints throughout the various designs I made to test
tolerances and different hole sizes

* The goal was for the holes to have a very small amount of
extra room so 1t wouldn’t fit too tight

. . Inside the test print
Test print of the Wing

Conclusion

* The use of 20x20 aluminum and M4 screws make the wing
easy to assemble and cheaper to produce

* CAD 1s great for making constant revisions and prints

* This UAV when completed can be a great asset for colleges
looking for a cheap UAV for research purposes

Reference List

Seethararn, H. C., Rodgers, E. J. & Wentz, W. H. Jr. (1977). Experimental
Studies of Flow Separation of theNACA 2412 Airfoil at Low Speeds. Wichita,
Kansas: Aeronautical Engineering Department Wichita State.

ntrs.nasa.gov/api/citations/19950002355/downloads/19950002355.pdf

Burnett, M. J., Coftfey, G. R., Worch, J. N., & Goforth, S. C., (2025). Integrated
Remote Environmental Monitoring UAV. Columbia, SC: University of South
Carolina

2% | UNIVERSITY OF
AN
i

]

South Carolina



https://ntrs.nasa.gov/api/citations/19950002355/downloads/19950002355.pdf
https://ntrs.nasa.gov/api/citations/19950002355/downloads/19950002355.pdf
https://ntrs.nasa.gov/api/citations/19950002355/downloads/19950002355.pdf
https://emailsc-my.sharepoint.com/:p:/r/personal/dsiuhi_email_sc_edu/Documents/Attachments/USC%20Research%20poster%201.pptx?d=w8ef1944830e849a1ab43fff20e014b40&csf=1&web=1&e=UHzbbo

	Slide 1: Research Poster Template

